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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-16_0
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-16_0, Day=52 (2025-05-22)
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P3-16

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

06:55 150 150.0 FA| 1Bi%@06:55 REFIFEF (RFAERES)
07:20 150 150.0 |Z=| 1BiB@07:20 KHMiEF (RAFERSE)
07:45 150 150.0 (& =| {Ri%e07:45 KHEF (RFAKRESE)
09:40 150 150.0 (B =| {Ri&@09:40 KENFEF (RATREE)
10:40 150 150.0 (=] 1{Bi%e10:40 KEEF (GEAERSE)
11:30 150 150.0 (2 =| {Ri&e11:30 KHEF (RFAKESE)
12:20 150 150.0 (B =| {Ri&e12:20 KEEF (RAKESE)
13:10 150 150.0 | Rige13:10 KMEF (KPBHEREE)
14:00 150 150.0 Be| BRi%014:00 REFEF (KAERE)
14:55 150 150.0 Be| {Ri%014:55 RHEF (RAEZRRE)
16:05 150 150.0 B5| {RiZ016:05 KENFEF (RAA1ERER)
23+ 1650.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

large discrepency for begining water status (347:54.0), set to 347 ml.

HEERECE (2237.0 vs 3490.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1.0

P3-16_0, Day=51 (2025-05-21)

0.8 A

0.6 1

0.4 A

0.2 A

0.0

1Ydo VO. FRY. ET ~ VI, VO, FVI, FVO, FRV, ad FRV, ET

Warning: lcol ['FVI’,

1100 1187

- 1000

- 500

"FVO' ] missing 00

¢ o vi

100 A

50 -

1.0

L
M_E 430

maxM

"28|_u
- 26

24

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

Bylni
400 A

200

@

®

N A o

p——&

0 P

@D52 01:45: ET=1444 Fg=1800.0 Ro=331.0

- 2000

- 1000

0

NP N Y "N
1 2 3 4 5

6 7 8 9 10 11 14 15 16 17 19 20 21 22 23

Zn| BA [ BA

i

[

i

ES = E3 E3 ES = E3 E3 ES = E3 E3 ES

BB | B

400 -

200

ByEt @D51 18:37: ET=1566 Fg=1650.0 Ro=nan !

- 2000

——8

- 1000

@
—a

0 1 2

5

6 7 8 9 10 12 13 14 15 16 17 19 20 21 22 23

EZS

[

A

GHEZIEZIEZS Zn| BB | B | E | 5 | A5 | A5 | A5 | BF | BF | BE | BB

%=

400 A
ByWoF

200

@D52 01:45: ET=1187 Fg=1650.0 Ro=318.0

- 2000

88

- 1000

1.0

@
—

5

10 12 13 14 15 16 17 18 19 20 21 22 23

0.8

A

é;-— = = = = = = = = = = =
pay B B B B B B B B B B B

%=

0.6

0.4+

0.2~

0.0

1000

500 -

| 4
| _obs
PPFD_obs

RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



hour

:10

:00

145

:35

:20

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-16

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R

07:10 120 150.0 |Z=| 1BiB@07:10 KHMiEF (RAERSE)
07:50 120 150.0 (2 =| {Ri&e07:50 KEEF (KRR
09:15 120 150.0 Be| {Ri%@09:15 RHEIEF (KAEZRER)
10:10 120 150.0 S| Rige10:10 KMEF (KPBHEREE)
11:00 120 150.0 BE| 1BRi%e11:00 REEF (KAEZRE)
11:45 120 150.0 Be| 1BRi%e11:45 RHEF (KAEZRR)
12:35 120 150.0 RE| 1BRi%e12:35 REEF (KEAEESR)
13:20 120 150.0 BE| 1BRi%e13:20 REEF (KFAERE)
14:10 120 150.0 (& =| {Ri&e14:10 KHEF (RFAKESE)
15:55 120 150.0 (B =| {Ri&e15:55 KEIEF (RAEESE)
23+ 1200.0 (100%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

large discrepency for begining water status (175:10.0), set to 175 ml.
BEEIRECE (2282. 0 vs 4057.0) T 5
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BfiE) | FEBIETK (D) | E#=E (EH/K) | XK EFF

07:15 120 150.0 PA| 1Ri%@07:15 KRHIEF CRAKZRS)
07:40 120 150.0 FH| {FRi%@07:40 KREIZF (KRATREES)
08:40 120 150.0 (2 =| {Ri%e08:40 KHEF (FFAEESE)
09:35 120 150.0 |Z=| 1Rig009:35 KEFEHF (KRFEEEE)
10:15 120 150.0 (B =| {Ri&e10:15 KEIEF (RAKESE)
10:55 120 150.0 (Z=| {Ri&e10:55 KENIEF (RAEESE)
11:30 120 150.0 fg| 1Ri011:30 KRENFESF (RATERSE)
12:10 120 150.0 Bl BRi%e12:10 RHMIEF (REEZEE)
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